MTH132 - Examples

5.1 Problems

Question 1. Find the area of the shaded region:
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Question 2. Sketch the region enclosed by the given curves. Decide whether to integrate with respect to
x or to y then find the area of the region.

(a) y=sinz, y=x, x =7/2, x = .
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Question 3. Sketch the region enclosed by the given curves: y = T y=2x% v+y=3, >0

Find the area of the region.
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Question 4. Use calculus to find the area of the triangle with vertices (0,0), (3,0), and (2, 3).

/\

1)3) 0—3
=T e
\/3=327K/‘\g \ /wvl g 7 \ﬂ—o=5_)_(>“3)
W —
oh (v < 3%+
4@-0 :%_g[x‘o)
2 3
J
Dy oo = ‘Ojf J14)2é%x+j7 %
2 3 2 3
1%7(210 T Q_ZX*‘}XB)z
-_‘% -+ Z/;

MSU 4



























































































































	5.1 Problems

